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Name: __________________________________



1
Which expression is equivalent to [image: image1.png]x4+ 5x-6



?

	1)
	[image: image2.png](x+ 3D(x-2)





	2)
	[image: image3.png](x+ 2)(x-73)





	3)
	[image: image4.png](x—6)(x+1)





	4)
	[image: image5.png](x+6)(x—1)







2
The expression [image: image6.png]—10x+ 24



 is equivalent to

	1)
	[image: image7.png](x+12)(x-2)





	2)
	[image: image8.png](x—12)(x+ 2)





	3)
	[image: image9.png](x+6)(x+4)





	4)
	[image: image10.png](x—6)(x—4)







3
David correctly factored the expression [image: image11.png]12m - 64



.  Which expression did he write?

	1)
	[image: image12.png](7= 8)(m - 8)





	2)
	[image: image13.png](7= 8)(m + 8)





	3)
	[image: image14.png](m—16)(m+4)





	4)
	[image: image15.png](m+ 16)(m—4)







4
The trinomial [image: image16.png]—14x+49



 can be expressed as

	1)
	[image: image17.png](x-7)°





	2)
	[image: image18.png](x+7)°





	3)
	[image: image19.png](x=Tx+7T)





	4)
	[image: image20.png](x=Tx+2)







5
Which expression is equivalent to [image: image21.png]2x2 + 8x— 10



?

	1)
	[image: image22.png]2x-1)(x+5)





	2)
	[image: image23.png]2ix+ 1)(x=5)





	3)
	[image: image24.png]2(x-1)(x-5)





	4)
	[image: image25.png]2x+ 1(x+5)







6
Which expression is not equivalent to [image: image26.png]2%2 + 10x+ 12



?

	1)
	[image: image27.png](Zx+4)(x+3)





	2)
	[image: image28.png](2x+6)(x+ 2)





	3)
	[image: image29.png](2x+3)(x+4)





	4)
	[image: image30.png]202+ 3)(x+ 2)







7
Four expressions are shown below.


I
[image: image31.png]2(2x* - 2x - 60)





II
[image: image32.png]Az -
x-30)





III
[image: image33.png]Yz +6)(x—5)





IV
[image: image34.png]4x(x—1)-120




The expression [image: image35.png]4x —4x- 120



 is equivalent to

	1)
	I and II, only

	2)
	II and IV, only

	3)
	I, II, and IV

	4)
	II, III, and IV



8
The area of a rectangle is represented by [image: image36.png]3x2 — 10x- 8



.  Which expression can also be used to represent the area of the same rectangle?

	1)
	[image: image37.png](3x+ 2)(x—4)





	2)
	[image: image38.png](Gx+ 2)(x+4)





	3)
	[image: image39.png](Gx+4)(x-2)





	4)
	[image: image40.png](Gx-4)x+2)







9
When written in factored form, [image: image41.png]4w = 11w-3



 is equivalent to

	1)
	[image: image42.png](2w + 1)(2w - 3)





	2)
	[image: image43.png](2w — 1)(2w + 3)





	3)
	[image: image44.png](4w + 1)(w—3)





	4)
	[image: image45.png](4w — 1w+ 3)







10
Which product is equivalent to [image: image46.png]4x? — 3x— 27



?

	1)
	[image: image47.png](2x+ 9)(2x - 3)





	2)
	[image: image48.png](2x—9)(2x + 3)





	3)
	[image: image49.png](4x+ 9)(x-13)





	4)
	[image: image50.png](4x-9)(x+3)







11
When factored completely, [image: image51.png]—13x2 - 30x



 is

	1)
	[image: image52.png]x(x+ 3)(x—10)





	2)
	[image: image53.png]x(x—3)(x—10)





	3)
	[image: image54.png]x(x+ 2)(x—15)





	4)
	[image: image55.png]x(x—2)(x+ 15)







12
When factored completely, [image: image56.png]2%+ 10x° + 24x



 is

	1)
	[image: image57.png]-x(x + 4)(x - 6)





	2)
	[image: image58.png]-x(x — 4)(x - 6)





	3)
	[image: image59.png]-x(x+ 2)(x-12)





	4)
	[image: image60.png]-x(x— )(x+12)







13
Which expression is equivalent to [image: image61.png]—1222+ 36



?

	1)
	[image: image62.png](x* - 6)(x* - )





	2)
	[image: image63.png](x* + 6)(x° + )





	3)
	[image: image64.png](6—
26+ x%)





	4)
	[image: image65.png](x* + 6)(x* - )







14
Factor [image: image66.png]2% + 16x—- 18



 completely.

15
Factor completely:  [image: image67.png]3y? - 12y - 288





1
ANS:
4
REF:
062204ai

2
ANS:
4
REF:
012012ai

3
ANS:
3
REF:
081803ai

4
ANS:
1
REF:
061810ai

5
ANS:
1
REF:
012314ai

6
ANS:
3

[image: image68.png]



REF:
081916ai

7
ANS:
3
REF:
081509ai

8
ANS:
1
REF:
011906ai

9
ANS:
3
REF:
061917ai

10
ANS:
3
REF:
062110ai

11
ANS:
3
REF:
011612ai

12
ANS:
3

[image: image69.png]—x(x* - 10x - 24) = —x(x+ )(x - 12)




REF:
012421ai

13
ANS:
1
REF:
081415ai

14
ANS:


[image: image70.png]2(x° + 8x—

2

= 2x+9x-1)




REF:
062331ai

15
ANS:


[image: image71.png]3y* - 12y - 288
307 - 4y-96)
- 12)(y+8)




REF:
082232ai

